Unit #2 Test: Analytic Geometry MPM2D

Name: gOL‘VT,()NS ‘

Marking Summary:

1 Marks:
Knowledge/Understanding: questions #1-4 Total Marks __._4?

Application: questions #5-7
Thinking/Inquiry and Problem Solving: #8

Communication: all

1. Find the exact distance between the points (1,2) and (-2, 7). [4 marks]
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2. Write the equation of a circle with a centre at (0,0) and a radius of 4. [2 marks]
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3. Aline segment has endpoints C(2, -5) and D(-12, 7). Find the midpoint of line segment CD. [3 marks]
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4. Mike draws a line segment from point A(1, 5) to point B(-8, 0). Marci draws a line segment from point
P(-1,-3) to Q(10, -2). Which line segment is longest? [4 marks]
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5.

James draws 4 points on a graph. Point P is at (-1, -3), point Q is at (6, -8), point R is at (19, -4)
and point S is at {5, 6). He connects the points from P to Q to R to S to make quadrilateral
PQRS. Show that PQRS is a trapezoid. [4 marks]
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6. Triangle ABC has vertices A(-6-4), B(0O, 'Eh and C(8,0). A mid-segment and alitutde have been drawn
inside triangle ABC. (12 marks]

a) A mid-segment connects two midpoints of a triangle. Find the equation for the mid-segment PQ,
shown in the diagram below.

b) An altitude is drawn perpendicular to side AC to vertex B as shown. Find the equation of this

altitude.

c) The altitude from part b) and the mid-segment from part a) intersect at point X. Find the
coordinates of point X.

60 -y 1 - N
Pl 7T 7 > _~ N\,

_ g

:)’-— (osr Co\/f‘)c,">_

@ M = - Co\H\'ch 5(0()(>

[y 50)
AN W*O%_/ N 7:'%70#1



MPM2D Page 4 of 6
) Ful x () LT/ Hp = © "f-—?s/ww-tm\/'-wl:&
~f = I -6 =o

O Ty rze Dy T

~S‘7,7+ 58 =0

_ 5%

Qoe— 7557\ 16 =0
&)

Lx -qob +6 =0
5



MPM2D Page 5 of 6

7. Find the shortest distance from the line y = —2x + 21 to the point (4, 3). [7 marks]
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. Akite is a quadrilateral with adjacent sides having equal length (as shown below). The vertices

of a kite are A(-2,3), B(1,-1), C(4,0) and D(3,3).

[Bmarks] A
a) Verify that the diagonals are perpendicular.
b) Show that diagonal AC bisects (“cuts in half”) diagonal BD.
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